
Exam III Review
● Average Score: 133.5/170.0 (79 %)
● Average Time:  39:06 minutes
● Difficult – Percentage of Students who answer the 

question correctly
● Easy (> 80 %) - 97 Questions
● Medium (30 – 80 %) - 69 Questions
● Hard (< 30 %) - 4 Questions



Exam III Review
● Hard Questions:

● How is the rain-in-jar demonstration different from natural 
precipitation?

● How is the rain-in-jar demonstration similar to natural 
precipitation?

● When conducting AgI seeding of a multi-cell cluster storms, 
where does significant ice typically develop?

● What is a result of over-seeding clouds in the lee of Lake Erie 
with AgI?
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